
 

MATHEMATICS WORKSHEET OF CLASS-III 
 

TOPICS: NUMBERS, SUBTRACTION, PATTERNS 
 
 

I ) Fill in the blank with correct number: 
 
a)  132 -  0  = ___________ 

b)  489 - 489 = ___________ 

c) 125  - 0    =___________  

d) 497 - _______ = 497 

e) 843 - _______ = 0 

f) 70 hundreds  = 70 _________ 

 

II) Tick the correct answer from given choices: 

 
a) The number shown on the abacus is:  

   
 

(i) 2,513     (iii) 3,512 

(ii) 3,125     (iv) 3,225 
 

b) Jiya wrote a number 374 in four ways. Which way is not correct? 
(i) 300+70+4    (iii) 100+100+100+70+4 

(ii) Three hundred seventy four (iv) 3 hundreds 70 tens 4 ones 
 

c) Which number has a 5 in hundreds place? 
(i) 354     (iii) 875 

(ii) 598     (iv) 905 

 
d) At the beginning of a journey, the hodometer of a car read 5,602 

kilometres. At the end of the journey it read as 7,453 kilometres. 
How much distance did the car travel? 

 
(i) 1841 km     (iii) 1801 km 

(ii) (ii) 1861 km    (iv)  1851 km 
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III) Discover the pattern, write the rule and continue the pattern: 

 
a) 24, 22, 20, 18, _____, ______, ________, ______. 

 
Rule: ________________________________________________ 

 
b) ABC, CBA, DEF, FED,______, ______,______,______, 

 

Rule:________________________________________________ 
 

c) 11 A, 13 B, 15 C,______, ______, ______,_____ 
 

Rule:________________________________________________ 
 

d)  
 

                                                                                        ,________ 
 

Rule:________________________________________________ 
 

e)  
 

 ,____________, _____________ 

Rule:________________________________________________ 
 

 

IV) Subtract and check the answer: 

a) 10 hundreds-10 tens 

 

 

 

 

 

 

V) In the number 7385, subtract the face value of 8 from its place 

value. 


